Find the maximum value of z + y along the curve defined by z2 + 232 = 6.
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If the order of integration is reversed, which of the following integrals is equal to
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If R is the region in the zy-plane inside the circle 22 +y? = 1 and above the line y = z,
then / / x dA expressed in polar coordinates is:
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Rewrite the following integral using the indicated order of integration and then evaluate the resulting integral.
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The mass of an object occupying the region bounded above by the plane z = 2 and
below by the upper nappe of the cone z?> = z? + y? with mass density at each point

equal to 2 + y? + 22 is given by:
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Let F (z,9) = 3z%i — ;. Evaluate / F -dF where C is the top half of the circle of radius
Cc

2 centered at (0,0), starting at (2,0) and ending at (—2,0).
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